Quiz 2 (20 pts.) Name: KE V

True or False (1 pt. each)

Answer the following by circling TRUE or FALSE. If the answer is false you must explain
why in the space provided for full credit.

1) T @ anale of elevation An angle measured upward from the hori-
/ zontal is called an angle of depression.

9 F - - / In a circle of radius 2, the arc length sub-
) @ 5= (255 tended by a central angle of 2.5 rad is 5 in.

3) @ F .,;7:- ZBI: __%TF: -277‘/ The angles o = g and 8 = ’%T are coter-

minal.

One should use the trig function sine to

4) T @ tan jf nt determine the distance d of the ship from
the shore. (Assume the triangle to the left
\ d = distance from shore is a I'lght triangle')
Lz 5°

55 ft

3
5.) @ F ?7? converts to 270°

Short Answer

6.) (4 pts.) Find the area of the polygon in the following figure: 7m N §
A= areo of -+riax\3le + area of squore = 844625 x
[ [ = Y700| mﬂ )
1= _5'(77(‘;4) 243+93= x2 | 5= (as?
= LU68) (as = X3 = (a5
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7.) (2 pts.) Suppose a circle has a radius of 6 cm. Find the area of the sector with a central
angle of 10°.

A= TC 2 -, mo\ T(?lo)(.lo\ (360) = 3OT_ -

300

8.) (2 pts.) Find the measures of the two nearest angles (one positive and one negative) that
are coterminal with the given angle.
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9.) (4 pts.) From the top of a lighthouse 21 m high, a sailboat is sighted at an angle of
depression of 6°. How far from the base of the lighthouse is the boat? (Hint: draw a
picture.)

.A\m °= 3\ =5 r= 2l
+on 6 7 +anb

S (+an)0 =2l | D [x = \%.8@

10.) (3 pts.) The front porch of a house is 4.25 ft high. The angle of elevation of a ramp from
the ground to the porch is 10°. How long is the ramp?

X = /eny#l of ramp

Sin10°= 4.35 > x= Hab
X sin (O

D (5in O)(X)= Y.35
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